ZLitkal

LAST TiME : Sim! [awl'l’)( )OQ'leéel/\

Eo‘l’a %ion S ' Lo ren{z de'f\s‘(bf“ﬂfhbws

Xz esbxesmoy V=)t - (1% x

Ko=) = yv)-t

f

V' = CesBY +sindx

Fd
Visualize }/R )\/
\\ ’
\\ //-;X
. ,”L“«/E — l::> Sfctce;}ime Aciot oum
- ' (‘T%AY\
\
N
1 1 N
L = A x) +{Ay) Same ':D < 2 2
L=@Ax)+Ay)+@2) - *(at )
'gor }o_’)"“ﬂ coor-aLfnx{ﬁ ( ) ( y) (A%) < (At)
5)(5 {'@M_f TNVAR (ANT INTERUAL b€+we,em. 2
events @
® (21.1%1')
<§H+') AX: XXy ) e,‘h‘.---

SAme -E:cr‘ all (aerfial observers .

Whet does i+ meam?

e «.—_-——"_"_—_‘-—J__—-_ T

SPACETHME DiAc ‘ £%
ACETIME DIAGRAMS o e enlbiply by e st
b
=2 20 “ /iL
|
bt = Yo — T legfit ey 2 slepe L
2o — — LATER
A=y (T =0 _ 1 £ m X
cLiCkel s’fn{(omf)/ OB&QCT
&
aﬂx/sejrltc“*i
doyect-

Slope >4



- 6V€f\+§ ave Fo?r\ﬂ's
- +W\§f€c+@rl€fs ace. PofH/\s.

ct
,& obsevver o ve[ocHy Vi
‘tfa(}ec“]’efy X = \/'ﬁ
A
oy 2 4= é

= ct :(%)'X
R

L S'Lﬂiae >1

Which everts does Hix o ving observes

$¢e as  simultaneous with AT

Ansuwer eveats with 1'zo0

C;l:’ /\pbserver‘
A t
< ~ \ %
P - observer teec e\/e./ﬁs
- on Jﬂﬂls’ tine o5

a_,i\mm‘ {*am eoln s,




